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1. S = 0.5*t3 

V = 
𝑑𝑆

𝑑𝑡
  

 

At 0s < t < 6s 

V = 1.5*t2 

V = 1.5*(02) = 0 

V = 1.5*(62) 

    = 54m/s 

 

At 6s < t < 10 

S = 108m 

V = 0m/s 

 

 

 

 

2. Find a-t and S-t graph 

 

V = -4*t + 80  

S = ∫ (−4 ∗ 𝑡 + 80) ∗ 𝑑𝑡
0

20
 

S = -2*t2 + 80*t 

At 0s < t < 20s 

S = 0m & 800m 
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a = 
𝑑𝑉

𝑑𝑡
 

a = -4m/s2 

 

 
 

 

3. Draw graph of a-s 

 

V = 0.25*S 
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a = V*
𝑑𝑉

𝑑𝑆
 

a = (0.25*S)*0.25 

a = 0.0625*S 

At 0s < t < 40s 

a = 0m/s2 & 2.5m/s2 

 

 
 

 

 

4. Find a-t and v-t graph 

 

At 0s < t < 5s 

S = 3*t2 

 

V = 
𝑑𝑆

𝑑𝑡
 

V = 6*t m/s 

 

a = 
𝑑2𝑆

𝑑𝑡2
 

a = 6 m/s2 

 

At 5s < t < 10s 

S = 30t – 75 
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V = 
𝑑𝑆

𝑑𝑡
 

V = 30m/s 

 

a = 0 m/s2 

 

 
 

 
 

 

5. Given 0s < t < 5s 
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S = 10*t2 & -10*t 

S = 250m & -50m 

 

 
 

 

6. Given V = 30*t and V = -15*t + 225, Draw S-t graph 

 

 

S = ∫(−15 ∗ 𝑡 + 225) 

S = 
15∗𝑡2

2
 +225*t 

 

S = ∫(30 ∗ 𝑡) 

S = 15*t2 

 

At 0s < t < 15s 

 

S = 0m, 375m & 1688m 
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Total distance is the total area under the line . 

At 0s < t < 5s 

Area = 
5∗385

2
 = 962.5 

 

At 5s < t < 15s 

Area = (
10∗1313

2
) + (385*10) = 10415 

 

Total Area/distance covered = 11107.5 
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